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a

a continuous

Ii It 2x

iii Fix 2x

iv 2 0

x 0 is an eq.pt

v F o 2 0 so it is stable

b lil discrete

i Xen YzXen D



iii Fla Yax

iv x Yzx

X O is a fixedpt

v F'lol Yz Ll so it is stable

c i discrete

ii Xen 2xcn D.CI Xin D

iii fix 2x I x

iv x 2 4 x

XO
1 29 x

Yz l X
X l Yz Yz



2 2

so fixed pts are x 0,42

f fix 2 2 2

F x Z Ux

F'lo 231 so x D is not
stable

f Yz 2 2 021 so X Yz is
stable

d i continuous

i d 2 11 x

iii Fix 2 4 X

iv 2 4 X 0

x 0,1 are the eq pts



eq

6 FIX 2x 2 2

F x 2 44

F'CO 2 0 so O is not stable

F l 2 4 220 so I is stable


